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A5HE FHHIAY A& RO
10,000, 0008 * 14! 10,000
ABHEINE S ALY 330,000 0 330,000
401 Al EHI% SO 330,000 0 330,000
01 Al&H| 330,000 0 330,000
SSAGEN2AALY (L=120m) 50,000
OZF25HE N2 4 A (L=350m) 100,000
ORENIE M2 2 A (L=140m) 30,000
© O XI 4 5 & H 2 4 AbE (L=500m) 150,000
AstE S 22l 300,000 467,000 A167,000
401 AIEHIZ S 300,000 467,000 A167,000
01 Al 300,000 467,000 167,000
oAdtE KX 30,000,000 * 10km 300,000
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DA T Dt
D =AY ¥ AT
L ST HIAY

SA - EH L ORI(B) - MRAIY - HAS CEE HlDE2
Oil &k o
CE:+=23| 100,000 100,000 0
= 50,000
= 50,000
401 AIEHIZ 2 100,000 100,000 0
& 50,000
= 50,000
01 Al&HI 100,000 100,000 0
OL= == FH| 100,000, 0003 * 14 2 100,000
& 50,000
= 50,000
XS Z=0IA9 AL (BFA) 700,000 110,000 590,000
= 350,000
= 350,000
401 AIEHIZ 2 700,000 110,000 590,000
= 350,000
= 350,000
01 Al&HI 697,000 110,000 587,000
OXNAFUHIAIL (HHEHA)
697,000,000 * 14! 697,000
= 348,500
= 348,500
03 Al =20HY| 3,000 0 3,000
OAN &S UHI 3,000,000 * 14 3,000
& 1,500
= 1,500
THE AL AFS (X 2= R 1) 170,000 0 170,000
= 170,000
401 AEHIZRHbI 170,000 0 170,000
& 170,000
01 Al&HI 170,000 0 170,000
OLNds EFAcHEEHISA 90,000
& 90,000
OLUNAEE 2ARAATHEEHI S A 50,000
& 50,000
Osdl #II0t= MEEHISA 30,000
= 30,000
o EEN ,300,000 1,500,000 200,000
N2 ,300,000 1,500,000 A 200,000
FoU=RAY ,300,000 1,500,000 A 200,000
401 AIEHIZ 2] ,300,000 1,500,000 A 200,000
01 Al&HI ,300,000 1,500,000 A 200,000
OF0I=2AD (R8s 2 1301H) ,300,000
st K& , 193,004 8,737,230 455,774
= 120,000
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S AL
Hal: sEE N
el Xstaze (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
3 4,124,500
= 15,000
= 1,989,250
2 2,944,254
Xt 22l 84,004 180,230 196,226
= 13,000
2 71,004
Nots e 54,854 177,080 A122,226
201 Y2 Y| 2,400 0 2,400
02 =2l 2,400 0 2,400
OXBH4 BEEY MDY
200,0002 122 2,400
401 AEHIYLS 52,454 177,080 A 124,626
01 Al 52,000 176,000 A 124,000
OXBH4: BEBEY HIIALY
14,000,0002 *30H 2 42,000
OYRB Aa=T 2,000,000 *57 4 10,000
03 Al&=HHl 454 1,080 A626
OXGH: BEBSY XA ALSUY]
42,000,000% *1.08% 454
DHP KNG SRS 2 3,150 3,150 0
201 Y2yl 3,150 3,150 0
01 AFR 22/t 3, 150 3,150 0
o2g+g 3,150
ODMR NANG+B2SARE B2
70,0008 9% +53] 3,150
Mot OISAE TA 8 26,000 0 26,000
= 13,000
2 13,000
401 AEHIYLS T 26,000 0 26,000
= 13,000
2 13,000
01 Al 26,000 0 26,000
OXIoHs OISAEH ZA 8
26,000,000 %14} 26,000
= 13,000
2 13,000
oM AN B R 3,485,000 2,410,000 1,075,000
3 332,500
= 15,000
= 1,171,250
2 1,966,250
IS B2 T 475,000 475,000 0
3 332,500
= 71,250
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S ALTHL D
Hm: sEgAs A
SRl S A B b (el &2
. HEG =
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
= 71,250
401 AlZHIL 2O 325,000 104,000 221,000
=l 227,500
= 48,750
2 48,750
01 Al&H] 325,000 104,000 221,000
©JIH3 B™E HEE 325,000,000 1A 325,000
3 227,500
= 48,750
2 48,750
403 RHEISHH SR 20 150,000 371,000 A221,000
3 105,000
= 22,500
2 22,500
02 2J12HS0IThEHCHE ARt bl 150,000 371,000 ~221,000
©JIME ARE HLF(E)
150,000,000 * 14! 150,000
=l 105,000
= 22,500
2 22,500
ARDEI| WAL H Y] 1,320,000 700,000 620,000
= 100,000
2 1,220,000
201 L2y 30,000 30,000 0
02 ZZ2Y| 30,000 30,000 0
02222 L WAl 10,000, 00024 14! 10,000
CNEETTES 20,000, 0002 *14! 20,000
401 Al&HIL 20| 1,270,000 570,000 700,000
= 100,000
2 1,170,000
01 Al&H] 1,270,000 570,000 700,000
Os2FYl A 200,000, 0002 *14! 200,000
OBH4=2 HH A 600,000,000 14! 600,000
= 100,000
2 500,000
OSABLNLAL 100,000, 0002 *14] 100,000
OARX HELAY 200,000, 0002 *14! 200,000
OYER AL 70,000, 0002 *14! 70,000
OSH(0FE) HEAR 100,000,000 14! 100,000
403 RHXISH SXH20IH 20,000 100,000 80,000
02 B2 SO0l CHEHCH S AR 20,000 100,000 80,000
0DH SXP SYIIBAIE ZHIBA
20,000, 0002 *14! 20,000
2212 42AL SXB2IH XL 55,000 55,000 0
= 15,000
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SN AL D
o sz N
Sl ML B R (el &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 40,000
402 RIZHXHE O 55,000 55,000 0
= 15,000
2 40,000
01 PIATEBE 55,000 55,000 0
%21 $2AE RIB2IH X
55,000,000 * 14! 55,000
= 15,000
2 40,000
THE 210l Abe) (= 2 XI 2 ) 285,000 260,000 25,000
< 285,000
401 AIEHIL2CH] 285,000 0 285,000
= 285,000
01 Al 285,000 0 285,000
01L& BH SWAZZHIZA 50,000
= 50,000
05ty =Y BFH(24) 60,000
= 60,000
OOt LHOIS SHA2FHIZA 35,000
= 35,000
OTUXT B2 BHIBA 60,000
= 60,000
035 ASXT SHARFHIBA 60,000
= 60,000
OOt Al2I0tS B2 FHIZA 20,000
= 20,000
AT DU IH S ALY 1,000,000 300,000 700,000
= 500,000
2 500,000
401 AIZHIL 2O 1,000,000 300,000 700,000
= 500,000
2 500,000
01 Al 1,000,000 300,000 700,000
OSHNT s HEAL
1,000,000,0002 14! 1,000,000
< 500,000
2 500,000
EYRE=CYLIALY 70,000 40,000 30,000
= 35,000
2 35,000
401 AIEHIL2CH] 70,000 40,000 30,000
= 35,000
2 35,000
01 Al 70,000 40,000 30,000
OFYPN =S SXIAY  70,000,0008 14! 70,000
= 35,000




SA AL D
HM: =823 1
CHel: S A A BHEH (&9 d e
- _ _ ME
2N -3 - c2(3H) - NEME - HES O] AFoH oﬁwa Hw=2
| 2 35,000
22| AIEHE S 100,000 200,000 A100,000
401 AlEHI L2 100,000 200,000 100,000
01 Al&t] 100,000 200,000 A 100,000
ORLNE HYIAIY 100,000,000 14! 100,000
THAE AN ALY (Z A H & ) 180,000 380,000 A200,000
[= 180,000
401 AlEHI L2y 180,000 220,000 240,000
[= 180,000
01 Al&d 180,000 220,000 240,000
ODAES ZAHDIS SRETZTETDA} 60,000
(= 60,000
O’tA SHYDIS S2EXZAL 50,000
[= 50,000
0OdlY QUK S2EIDAL 40,000
(= 40,000
ONE SEIXR S2EI DA 30,000
(= 30,000
= of THaH ofl 2t 150,000 290,000 A 140,000
=2 120,000
[= 15,000
= 15,000
stetCiH| 2400 150,000 290,000 A 140,000
=2 120,000
[= 15,000
= 15,000
401 AlEHI L2y 150,000 290,000 A 140,000
=2 120,000
[= 15,000
=2 15,000
01 Al&H] 150,000 290,000 A 140,000
OB L 22ILALY 150,000, 0002 14! 150,000
=2 120,000
[= 15,000
=2 15,000
SEX AN 5,474,000 5,857,000 383,000
2 3,792,000
(= 790,000
2 892,000
SEXNFI|UEE 2,880,000 3,264,000 384,000
2 2,016,000
[= 432,000
2 432,000
401 AlEHIL 20 2,880,000 3,264,000 384,000
2 2,016,000




SH AT
HH: sEHE X

Sl SEX I (25l &2
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES oH Ol AF o8 Hws2
< 432,000
2 432,000
01 Al&H] 2,860,000 3,244,000 384,000
OFFIIe HEAMY A&
2,860,000,00021 *14} 2,860,000
= 2,002,000
= 429,000
2 429,000
03 Al&=H| 20,000 10,000 10,000
OBFIIE ABAY AL RO
20,000, 0002 * 144 20,000
= 14,000
= 3,000
= 3,000
=E012 SN 2,394,000 2,593,000 199,000
=l 1,676,000
= 358,000
= 360,000
403 MXSHSKZ0IH 2,394,000 2,593,000 199,000
=l 1,676,000
= 358,000
2 360,000
02 BJI2HS 0T &HCH 8 AF2t bl 2,394,000 2,593,000 £199,000
OsUAY SEUIS ZHNLAL
777,000,000 14! 777,000
=l 544,000
= 116,000
2 117,000
OBBAY SEUS ZHHLAL
1,617,000, 0002 * 141 1,617,000
=l 1,132,000
= 242,000
= 243,000
SO ZEI0I B R XS ALY 200,000 0 200,000
=l 100,000
2 100,000
403 XIS HSKZ0I 200,000 0 200,000
=l 100,000
2 100,000
02 2125 0IChEHCHE ARt bl 200,000 0 200,000
OUIIXPSHEHIIBREY
200,000, 0002 * 144 200,000
=l 100,000
2 100,000
c2Aa 8,376,465 13,352,365 ~4,975,900
= 314,000
= 2,100,000
2 5,962,465
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SA: AL
M S 2A4

Ce TR (&2 &
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2

N 1,808,465 2,374,365 565,900
== 100,000
iy 1,708,465

T2R A 2 48,267 58,167 29,900

201 Et24d| 39,367 30,367 9,000

01 AFE22elbl 13,120 13,120 0
Ogt=ZH| 12,000
o2dY 70,000& x4 x4 3| 1,120

02 S=2494| 26,247 17,247 9,000
Od = Hl 12,147
OAI&Z&H| |Xd] 5,100
Osg WHIl =2l 100,000 *13CH 1,300
OZED| £¢e 200,000& *23| 400
OgIZesd 9 HAEHH =2 3,000
OflszZ2d ¥ BHE £2| 200,000&*23] 400

O 0IEES 7Y CCTV s32=2

50,000& x150H A= 12& 9,000

206 T2 H| 8,000 10,800 A2,800

01 THZHl 8,000 10,800 A2,800
ozgie M7 8,000

405 KHAHFE S| 900 17,000 A 16,100

01 XM EEFHSHI 900 17,000 A 16,100
Ook=z B+ ¢ 900
OulF2l ¢ 450,000& =2CH 900

WEET=IVERY 50,000 71,000 A21,000

401 AlEHI YL 50,000 70,000 A20,000

01 Al&HI 50,000 70,000 A 20,000
OUE T=Z=AIY DI 2 24t 50,000

DEolY ¥ T2 Hy| 953,000 1,504,000 A551,000

401 AIEHBIYL 20| 953,000 1,504,000 551,000

01 Al&HI 950,000 1,500,000 550,000
o0t e L X2l 200,000
ol AD|IE2E T HZ AL 150,000
OAZ~LHZ2AZ NSE X 300,000
OZHEEISE=ZHHISA 100,000
OsAELANAEZ HH|I B A 100,000
OHS~USFE 2 ZHIAL 100,000

03 AlE=20HbI 3,000 4,000 A 1,000
OA-&20Y| 3,000

T2 DEZ FA 6,198 6,198 0




SA: AL
M S 2A4

@ T2 X2 (ctel &
BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
SN HH . GA(BH) - NEAY - B2 Sh Ofl & o e
101 el24H| 6,198 6,198 0
04 JIZtMZ22XNsSEs 6,198 6,198 0
OnsSs T A 21 AHb| 6,198
(@)l )] 38,870& x6H x21JH A 4,898
OZHAH| 5,000 *6IH A *x21 0 A+ 1 630
oxAs B8as 670
A FHISA 300,000 300,000 0
401 AIEHIZ 2B 300,000 300,000 0
01 Al&HI 300,000 300,000 0
OJtE WS HHIS AL 300,000
T2 EXE &yl 36,000 120,000 84,000
401 AIEHIZ 20| 36,000 120,000 84,000
01 Al&HI 36,000 120,000 284,000
OE&E EXE Hy| 9,000, 000& *44 2~ 36,000
T2FH I XA 15,000 15,000 0
401 AIEHIZ 20| 15,000 15,000 0
03 A&l 15,000 15,000 0
o=z &Hl I ¥ 15,000
A EZ2-X10095 6 ELZ HE A 300,000 0 300,000
401 AEHIZ 20U 300,000 0 300,000
01 Al&HI 300,000 0 300,000
oMdET=-X10095 6 K= Z &AL 300,000
THEHOYAIH (=) 100,000 0 100,000
& 100,000
401 AIEHIZ 20| 100,000 0 100,000
& 100,000
01 Al&HI 100,000 0 100,000
OndsS JIE L HUISA 50,000
& 50,000
Og 2 Hat0t2 LSS AL 50,000
= 50,000
= EAFY 4,575,000 6,700,000 22,125,000
& 2,000,000
= 2,575,000
A 2,215,000 2,330,000 A 115,000
401 AIEHIZ20b] 2,215,000 2,330,000 A 115,000
01 Al&HI 2,200,000 2,300,000 100,000
o= ALY 2,200,000
O8e~3X2t &5 S At 200,000
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SA: AL
M S 2A4

ool ZEAY (el &)
A BB O(B) - NEAY - BAS Of o e Hl R =2

OFH~2ZHE2 &5 SHEZEIZA 100,000
Olts~2=2t &2 SELHEIA 1,000,000
O3t &2 SHELHEIZA 500,000
OFg~-22= T=FHUISAL 400,000

03 AIE=20iHl 15,000 30,000 A 15,000
OAN &S U 15,000

gs~U=22 &2 SFEZHIA 2,100,000 3,970,000 A 1,870,000
= 2,000,000
= 100,000

401 AM&HIL 2048 2,100,000 3,970,000 A 1,870,000
= 2,000,000
= 100,000

01 Al&H| 2,100,000 3,970,000 A 1,870,000
Og=s~UH=2t &2 SHEZLHEIZA 2,100,000
= 2,000,000
= 100,000

=ERN el At 260,000 400,000 A 140,000

401 A &HIL 2048 260,000 400,000 2 140,000

01 Al&HI 260,000 400,000 A 140,000
O=% FA22IAMSA 100,000
OSMRI| At 100,000
O=7&H 60,000

SO EZZ ALY 1,365,000 2,400,000 A1,035,000

SHEZZ AL 1,265,000 2,200,000 935,000

401 AlEHIL S THHI 1,265,000 2,200,000 A935,000

01 Al&t| 1,250,000 2,150,000 A900,000
O=sHEEZ MY 1,250,000
OHl=(4el38sd) MU= HHISA 300,000
OEH(LH1085) XAEZE HEISA 100,000
OLE~-262t &2 SHILHAIY 100,000
OAMXZ(DH2055) MLEZ FHIS A 100,000
OFAAM(AR203E) MLE=2 FHISA 100,000
OF=(H2025) XAEE HEISA 50,000
OMS(LH2065) ZAEZE HEISA 300,000
O=F~M=2t &2 SHEZHEIA 100,000
Os~0ts2t &2 WS Al 100,000

03 AIE=20HI 15,000 50,000 A 35,000
OA &S UHI 15,000

SHEZZ RAN2CIAE 100,000 200,000 100,000

401 A &HIYL 2048 100,000 200,000 A 100,000

01 Al&H| 100,000 200,000 A 100,000
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SA: AL
M S 2A4

&t sSHEZZAY (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
O=sUHELZ HAZelAt 100,000
ANSXtw S| A AL 628,000 1,878,000 A 1,250,000
2 314,000
= 314,000
A2 AL ALY 528,000 900,000 A 372,000
= 264,000
= 264,000
401 A &HIZL 204 528,000 900,000 A 372,000
= 264,000
= 264,000
01 Al&HI 528,000 900,000 A 372,000
OREEZ X HAAY 528,000
& 264,000
= 264,000
WEAMNDRSRIMEAS 100,000 80,000 20,000
z 50,000
i 50,000
401 A &HIYL 2048 100,000 80,000 20,000
= 50,000
= 50,000
01 Al&H| 100,000 80,000 20,000
OQUSMIZESZIHLA 100,000
& 50,000
= 50,000
HY2FZH 416,042 400,810 15,232
ol HHI(HE D) 315,590 315,590 0
CE2ESE R 315,590 315,590 0
101 1 H| 315,590 315,590 0
03 RIHAZIZXNE = 315,590 315,590 0
OEZ2E3 22| 315,590
OJle2s 42,0003 x13H +300& 163,800
Ot FE= 163,800, 000& *10% 16,380
ORI, 163,800,000% x4/ 12& 54,600
OANZtel 222 7,650%13F «15A12tx123 17,901
OgxXt =% 42,0002 x13H »18 9,828
052 S 42,0003 x13H «b2 28,392
OtEE = 275,402,000 *3. 3% 9,089
Oz gl 50,0002 *13F = 12& 7,800
Ontl 50,000 13«12 7,800
Jl2ZH (AL D) 100,452 85,220 15,232
HEFEZHI 4,200 4,200 0
203 HRF&H| 4,200 4,200 0
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SN

b=
T ZH . BH A
S Tt S
|

52 2|
chel: J2Z (AL (el &)
_ _ HE T
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh

04 RA2SERFAH 4,200 4,200 0
ORM2ZE ZRF&H| 350,000& 128 4,200

et 32,652 26,840 5,812

201 ZetEEHl 32,652 26,840 5,812

01 AtR2teld] 30,452 24,640 5,812
OgBt==2H| 26,420
o=l 4,032

02 3223l 2,200 2,200 0
0232= ¥ HAl 2,200

(Gl=] 63,600 54,180 9,420

202 Oddl 63,600 54,180 9,420

01 WY 63,600 54,180 9,420
Ol 04l 200,000 «20H «12& 48,000
O=UH=&0H 65,000 x20H 123 15,600

Heas 859,793 868,941 N9,148

HWRAHAHXIS (AL TH D) 152,793 140,441 12,352

Met2e| DI 3dEZ 152,793 140,441 12,352

02 JIsdsEs 152,793 140,441 12,352

01 JI=dE=s 152,793 140,441 12,352
oN-d&ells &&= 152,793

28X E 707,000 728,500 221,500

EHS U RILIOH =oH=2AISY Xz & & 707,000 728,500 ~21,500

311 XL =0IAt&f 87,000 108,500 221,500

02 Al -2 - RXANLIIS X SO0I Ktk 87,000 108,500 221,500
OHS"0?ILIOt" EXt= Ol Atatst 87,000

601 XU 620,000 620,000 0

02 Al -2 - XSGV SAHg=d=a 620,000 620,000 0
OEHE"0IfILIOH 8Xt= =& 620,000
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